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ARG —HEYT GPIO0, 4 GPIOO fii A\ & I, 3R E GPIO1 %t
RHE; 24 GPIOO iy MK H -, GPIOL i Hi = - o

> W& 20 1R OB, ERIEEREITR A, o DB A Ik A S AOE B E AT R,
e — BT R

{E Android F AL TR (Java HERE) i, HEMKA:
> #ifigF R GPIOO0 fil GPIOL [k A
> BRI DR R RIE RO BUE . JRE 8 F E 3RS A
> WERE# DB )R
> EFIRE# DRSO HUE
=. BEGERFY
2 ;5 RS 2 (a5 socket EHIESE, H1T socket AL e A LA M, T

BEAAAE “ A7 B “ZE” NSO, IXAUEOR AP B e SGEME L, FILAM socket 75
eI S B AEE R, WATEE e, s,
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Bl 2 A SGEE P a
Head: fu3k, 2775, [E% OXFFOX02;
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Type: #FERA, 15797, RULAKEAETRES B

‘q7 - SRAR N, EHTE S (gpio RS B O RSEZITIEL. B KIER
LIiDR

v SkBEMRSR, NER Q0 &l

‘s’ - SRBEE ), WHEIKES D EZRIERE

‘e’ - kBRI, KESDRIERIGHEIEE,
Data: ¥ N, KEAETT, KEVEHE 0~1015 717

Type= ‘q’ W, data % AHEN, KEWLN 0;

Type= ‘r’ B, data K& 14 577, gpio0 K& (1 F75) +gpiol RE (1 575 +8
o 0 (4735 + B0 it (479 R OEZIRIERR (4 7795);

Type= ‘s’ W, data K/ 4 #47, FoRWEIRZH D ERE R

Type= ‘c’ I, data &A=, KERLLAO;
Csum: K51, 1 %275, M ID F| Data 45 R IR I A O i), B2l 1D+Type+data+Csum=0
B IERf 3R -

i, ARS5¥%m C/C++IEFF

M55 CIC++REF 2 “XUNHIERE” Barh (i ire, L ZohRe AN Jrim: —
FERENS H AE e  NDIRERL TR, Pt SE R B AL SR A, TR TR T IR, T R
K

4.1 BRSNS ThRet

TEI demo FEfFH, Thfgiit 3 22 gpio A 1, gpio AT IeE, A DAERLEAE %
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Blclass MyGRIO{
public:
MyGBIC() ;
~MYGEIO() ;
= f**
* init gpioc device , open /dev/esm6800_gpio;
* return 0 if success; -1 failed:
- *f

int initc():

e I T 3 R

[ V= R

=RVAS
* ztart a new thread to run gpioc working task
* @return

- *f

17 int run()

I
I o ol L R

e
* stop gplio working task
* @return

- =/

woid stop():

=T Rs i
{1}
L

=RVAS
* read the =state of gpio-index, no matter whether gpiox is input or not
*# f@param index gpioc index 0~31
* @return -1 -- failed; 0 -— low; 1 —- high
*f

int getGPICStateByIndex(int index) ;

E s I Y R VI

(=TT -Rs]
T

private:
int m GPIOFd:
int m stopFlag;
//bitx of m pinDir indecate gpiox is input(0) or ocutput(l):
unsigned int m pinDir;
//only when bitx in m pinDir is input, the bitx of m pinlnputState i= valid,
unsigned int m_pinInputState;
ffonly when bitx in m pinDir is output, the bitx of m pinCutputState is wvalid,
unsigned int m pinCutputState;

[0 Y “p FU I

=1

[ TRy 6]

b b b L0 LY D GO Lo L8 L D L Lo K3 K3 ORI RS ORI RS R3 R3 RS RS

=

3 pthread t m workingThread;

44

45 int GPIO OutEnable(unsigned int dwEnBits):;
45 int GPIO _CutDisable (unsigned int dwDisBits):
47 int GPIO OpenDrainEnable(unsigned int dwODBits);
48 int GPIO_CutSet (unsigned int dw3etBits);

49 int GPIO OutClear(unsigned int dwClearBits);
50 int GPIC PFinState(unsigned int* pPFin3tate);
51
S

2 static int workingThreadFunc(void* lparam);
54
3 Fk:

K 3. MyGPIO

MyGPIO ] init #2211 3 22 4T JF/deviesm6800_gpio iX M1 f. run 90 1825
IR GPIO AHKIML S TAE, X BRI GPIOO 1%, GPIOL fE %t , kil
#| GPIOO MK AR, GPIOL firt s F: 2, 4 GPIOO A7 = H-Fif, GPIOL i
HARHF . stop #1145 1E GPIO W%, 1BH GPIO M 454kFE. getGPIOStateBylndex
1 A] L gpio-index [y A /4 H FE PR A

5/11



AT TS B ARG RA A Android XU F3EFE Demo 271t

[F#E, XFF MySerial 2§, 424 init. run. stop #0, A4t T getCountlnfo 2 H,
LIRS S, clearCount # X HHEGE R . run #E O HFE & FL S 20FE, X BN
S5 MR BRI R TR IE SR R fE — B D8, IR gt 7 — A3 B A 1

[ 34 1 setPeriod I #1811 getPeriod.

[¥=]

R * read rx/tx count of the serial device
o2 * @param rcnt pointer of rx cnt
25 * @param tcnt pointer of t©tX cnt
54 * @return
56 vold getCountInfo{int *rcnt, int *tcnt);
58 |:_:| ==
a9 * glear count of rx/tx
6 * @return
62 vold clearCount () ;
63
64 |:_:| ==
&) * read serial port send period
66 * @return period
67 E *
it int getPeriod() :
63
70 H ..
T1 * get serial port send period
T2 * @param per period
T3 * @return
TS vold setPeriod{int per):;

4 MySerial B0 AE0

4.2 WAV R SR, AT 2 7 S 1 K

By EEXT M 1 H ) Server R, AN E—4 MyServer 25, HkSCHanE 5
fis. Hr, registerDev #% 4TI MyServer 89F %, FERKHAZE (MyGPIO.
MySerial) [fIfgEHEI%4 MyServer 35, 24 MyServer JSHriBE 0 )E, o LLUE &N
FREF R LA LR O, Bl B SS . run AT A RS 88, WEWT AR R4 (127.0.0.1)

BRI 11 9733, #EN accept ZAFIEBRE
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[ RT= ]
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i kd s

S0

f#define DEV_TYPE GPIO 0O
f#define DEV_TYPE UART 1

Helass MyServer{
public:

MyServer():
~MyServer():

* register the device pointer to the serwver,
* to invoke public method to get info
* @param dev device pointer
* @param type device type
*f
wold registerDev(void * dew, int type):
AL
* start to accept connection
*/
wold rund():
wvold stop():
int isStopped():

private:

int m_hasUIConnect;
int m_clientSocket;

ffpointer to GPIO dev;

MyGPIO* m pGPIO;

ffpointer to serial devw:;

MySerial* m pSerial:

int m_exitFlag:;

int m _defaultPort = 2733;

char m_defaultIPF[] = "127.0.0.1";
pthread mutex t m writeMutex:

QUEUE m_gqueuneSend2UI;

static int _init_ server (volid *param);
static volid *write to_wui_ thread func(void *p):;

static vold *recv_from ui_ thread func(void *p)
int write2UI(int type, char¥ data, int len);

K 5 MyServer 3

4.3 main PRE TAEVRFE

N— S

Z1T

in order to use pointer

¥

£ main KT, B2 GPIO W& M LI &M 3 Server B, SRIEWILEIE
GPIO M I BAK TAEAESS: HJ5Ii81T Server B, JFUE W A 1 9733, G

AERRBIR, AUESLHNER, MR B %) dm P, IRAE SR IIE S, M GPIO.
5 B R~ G A BIMA RNAE S, MR am i oK. main R BRI QR B :
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11 int main{int argc, char¥* argv)
12 [HAf

13 printf({"enter main‘n"});

14 MyGPICO myGPIC;

MySerial mySerial;
HMyServer myServer;

- -
-] & n

myServer.registexrDev (&myGPIC,DEV_TYPE GPIC) ;
myServer.registerDev (&mySerial ,DEV_TYPE UART) ;

[ I T= e}

myGPIC.initc ()
myGPIC.rund() ;

mySerial.inic({l});
mySerial.run{)

=] M LN s L RO

myServer.runi)

[ T= e}

= while (!myServer.isStopped()){
zleep(s);
B i
printf({"exit main‘n"});
retaorn C;

[T U

(TR U TR FUR YU TR U S R U S CR I T N

o
I
[

K| 6 main %L

H. &) Android Java F&FF

266 private void init() {
267 mIvAlert = (ImageView) findViewById(R.id.imagelView alert);
268 mTvAlertState = (TextView) findViewById(R.id.tv_arlert state);

276 mIvHydrant = (ImageView) findViewById(R.id.imageView fire hydrant);
271 mTvHydrantState = (TextView) findViewById(R.id.tv_fire hydrant_state);

273 mBtUartSettings = (Button) findViewById(R.id.bt wart settings);

274 mTvlartTxCnt = (TextView) findViewById(R.id.tv wart tx_cnt);

275 mTvUartRxCnt = (TextView) findViewById(R.id.tv wart_rx_cnt);

276 mTvUartPeroid = (TextView) findViewById(R.id.tv wart period value);

278 mBtUISettings = (Button) findViewById(R.id.bt wi settings);
279 mTvFreshPeroid = (TextView) findViewById(R.id.tv refresh peroid value);

281 31 = "127.0.0.1";
282 mPort = 9733;

7 H AR
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private void connect2server() {
mClientThread = new SocketClientThread(mIP,mPort, mHandler);
mClientThread.start();

LI}
—_

Kl 8 & i A b

PSR E, B socket MEEAM 1P HibkfOERIANE T (127.0.0.1:9733), & 7
M 8 fim. BESERG, LA E B A RS 28 Rk EIE R, AR5 RE S .

N 23 15:45

TestDaeAppDemo

Android X #F2 M i DemofZfF

XXXXIEE ARG

| | |
\ ¢ O

EREARE EIR RS o mpit wE

i OFF B3 32493 RIS A(ms): 200
BElutE: 27440
AiEEHA(ms): 5000

9 Z/m A CEFARED
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N > 15:47
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Android I #FZ [ FiDemoiZ
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EREARS IR BOEE wE
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EWGtE: 27440
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K10 2w dm GREIRE)

Wi 9 FE 10 Fiow, “EARENIRE” R “TH B RS 43 AU GPIOO 1
GPIO1 HIIRZS, 24 GPIOO iy A\ i Hi-F I (HREHAIRZS OFF), kg% H shiz ] GPIO1
BV ERCF G BTMSTHEIRAS OFF): K2, 4 GPIOO0 MK HLF i (HRE 4 RZE OND,
JR 5% s ] GPIOX % th v i ~F Bk HPIRES OND.

“CH B BUNGEAE B, X BLAGRE AGRAIERCTH U . Oy T REHE L e 0
BMSLIEAT, AT DR A SRS AR, XA WIE AT DR sy R g i
PIRHERE T E . WA 11 fros, FESf e HES, 38 W] DUEBEE TR 2 58 LR IE/
PO . XU 1 OB

wJa, “WE IR ERE UL R R A e e, Fe iy in) ik 55 SRR BUE 20 R A 3517

4
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EREEOSH:

b ARREOITE

BOEmMEERE (ms) .

B 11 5 H B EXEHE

RN HHERE” 7 ZBOE I R, fEJECREY CIC++REP LA b, AIn—4> server
B, B IAER% (GPIO. HIH) [Mig#(s Rl A% (127.0.0.1) 1 socket f&i%
47 Android Ul 3 7R ; [FIRS, server B SCREREIC UL 3G I AHLAE Hdg 4>, I B0 B S0
TAER . XA, FIETAEZMRH server 5% TAER&RIERE N, LK server 5
Ul 3 ) 78 SCEAF T . TR0 AH T IRA B CIC+HIEF, Itk T RZ L5512
WA RBERE: RNy, WERR T Java b ST K RIHERE o

ARAE server 5% TAER & INEARE 75, LU server 5 Ul il H & SGBEAE X%
FEATT 77 THT RS B8 A e A SRR A5 1T e 1, L H BRI E T R AT AT M, R
G5l EMER . WS P67 RN, Jea) &1ttt demo R RS, HE PS4,
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